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Time Allowed : 212 Hours | [Maximum Marks : 100
ofaeer : (1)  sioass AanrssEnd Flurs 56w Lifleurs) o GTemST eTELISEnE

sflunisgé Cerdrarayb. sFsliudelles @ senpudpliden oemma
samaTeriuremiLD 2 Langure Gsfelssab.
@) fob saag sely ewdeda LLEHCWL aWaMSHED,
Sl GaTy Heush@n LwaTuRss Casmhib. UL Ml EHET GUENTEUBHD &
Quendle LwETUHESaLD.
Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hail Supervisor immediately.

(2)  Use Black or Blue ink to write and underline and pencil to draw diagrams.
GILY : Geuellemggrer mrem@ Lilaymmars QasmairLg).
Note : This question paper contains four sections.
Wifley- 1/ SECTION - 1

(HLGluemrser : 15) / (Marks : 15)

ooy : O  @udfedie o drer 15 cNenmésEnaED allan ieTEsa|ID. 15x1=15
@) QerHassuUl Gt BrenE wrhn evmisefld Wlaa| & flwimew
eﬁmt__som_.gb CsipQs058 GNUILGLEr e idemanyd Garsg)
GT (LB SELD.
Note : (i)  Answer all the 15 questions,

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. f(x)=x245, erafler f(—4)=

(1) 26 (<) 21 (@) 20 (7) -20

If f(x) =x2+5, then f(~d4)=

(@) 26 (b) 21 (¢) 20 @ -20
; & : 7 : ~. a—>b
2. a b cerenuen qm WUmBEGS AerLr euflensudsy o dreren eresian gt
a b . a ¢
() 2 (<) - @) = (®) +
o
If a, b, care in G.P., then L 15 equal to :
a b a c
(@ b) - 1 (d

3. a b ¢l meeuea &L BS Ggr_i auflensulied Gmuller a~4b+6c~4l+m= :

N
(=) 1 (<2t)2 (@) 3 (rF) 0
If a b ¢ I, mare in AP, then the value of a—4b + 6c— 4l +m is -

@) 1 b) 2 © 3 () ©

4. 6x-2y=3, kx—y=2 srany Glgreudne @Crlwrm Sre| e.arQLaf :

(<) k=3 () k=3 (&) k=4 (/) k#4
If the system 6x—2y=3, kx—y =2 has a unique solution, then

(a) £=3 (b) k=3 @ k=4 (d) k=4
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49(x2 —2xy + y2)2 - GUTES ELHGOID :
(1) 7]x -yl (<) 7x+y)(x—y)

(&) 7(x+y)? (/) 7(x—y)?

The square root of 49(x? —2xy + y)Z is

(@) 7jx—yl (b) 7(x+y)(x—y)
() 7(x+y)? (d 7(x-y)?

2
Gx1)|-1|=(20) erafe, x-6i OHILIL] :

3
(=) 7 (<) ~7 @) 7 (/1) O

2

If 5 x1)|—1| = (20}, then the value of x is:

\ 3 o

4 1 .

(a) 7 b =7 ) = (d) 0

oM ol LSS owwbd (-6, 4). ¢ L sdler o weoer (-12, 8) araild,
D{BET LDEI(LOENET

(1) (—18, 12) (<2) (=9, 6) (&) (=32 () (00

The centre of a circle is (=6, 4). If one end of the diameter of the circle is at (—12, 8),
then the other end is at :

(a) (=18, 13 b) (-9, 6) {c) (=32 (d) (0, 0)
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8. (0,0)(20), {0, 2) @slu yemaflsaTmed ientowib p&Garamsdler Lipliy -

(<=1) 1 &GS (<) 2 & D@ @sar
(@) 4 s.aEsd () 8 &S @Ean

Area of the triangle formed by the points (0, 0), (2, 0) and (0, 2) is :
(@) 1 sq.units (b) 2 sq. units

() 4 sq. units (d) 8 sq. units

9. ."_\PQR—@) RS GI'GﬁTung ZR "G}ﬂr (gl%l_l—m EZ_I_I|E| @@)BLD{:’@J |_‘_g__ IJQ =4 QJLS,
QR=8 @&5..5, RP=4 Q&5 credfier PS = :

Q 8 cm R
(<) 2 Qa.b. (<21,) 4 Qg8 (@) 3 Qla..b. (/) 6 Glg.ib.
In APQR, RS is the bisector of ZR. If PQ=6 cm, QR =8 cm, RP=4 ¢m then PS is equal
to :
/fP
N

e N
e \dom

2N

Q@ 8m R

(@) 2cm {b) 4 cm (c) 3cem (d) 6cm

10, GenCsresr AABC-& £B=90° ommib BDLAC, BD=8 Q&.15., AD=4 Q&.18., erefled
Ch= ;
(<21) 24 Gig.b. (=},) 16 G&.18. (@) 32 Q5.8 () 8 Gl&.LB.

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm, AD=4 cm,
thery CD is :

(@) 24 cm (b) 16 cm ) 32 om (d) 8cm



1%

12.

13.

14.

(cos28 —1) (cot?0+ 1) +1=
(=24) 1 () -1 (&) 2 () 0
(cos2h—1) (cotB+1)+1=

(@ 1 b ~1 (€) 2 (d) 0

a
tant = — grafle ——= _g57 Dl

va©+x
(<24) cosh (<24} 5ind (&) cosect (7F) secB
a x
If tan®) = — , then the valug of 7% &
A S
(@) cosd (b) sind (c) cosech (d) secO

G Hao Cararsdlen cuemenriiy 24 Q5152 =ibs Carargoms Qran® s
Gararhisernsll Gfssrd Han sGn DorsGararmusailda gerplern Cwrgsy
uruLy

(1) 12 Qg.162 (<2) 8 Q.82 (@) 16 Qe 8.2 () 18 Qg.18.2

Curved surface area of salid sphere is 24 ¢cm?. If the sphere is divided into two

hemispheres, then the total surface area of one of the hemisphere is :

(a) 12 cm? () 8 cm? (¢) 16 em? (d) 18 cm=

F wereh sfleursdsm &L ellewdsn 1.6 aTefed, iFHen dlods euTsss Fyrafl
& Y To&S J
(LFeuDig)

0.4 (<=y) 2.56 (@) 1.96 (/r) 0.04

If the standard deviation of a set of data is 1.6, then the variance is :

(a) 0.4 (b) 2.56 () 1.96 (d)y 0.04

[ Slmlys / Turn over
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15, e 2migl Hlapsfuller flspssal
[e]) 1 (<2,) 0 (@) 100 () 0.1
Probability of sure event is :

@ 1 () 0 (c) 100 @) 0.1

19fey - 1T / SECTION - 11

(baluGlusirseT : 20) / (Marks : 20)

@Oy ()  ubs elemssErss alla_welEseay b, 10x2=20

(i) eoflenr ere 30-d@ S@ETQIUTS eienLwieflEsah. a6
14 eflanggafielmpgl 9 efamsseners Coieay GawiaL.

Note : (i)  Answer 10 questons,

(i)  Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. A={4,6,7,891B=12,4,6}C={1,2 3,45, 6 eralld AU (BN C) snehrs.

If A={4,6,7,8,9 B={2,4,6} C={1,2,3,4,5 6} then find A U (B C).

17. A={12,3,4, 51 B=N opmib f: A—B yaigy f(x) =2 6T GUEN T WMISSLI LU (HETaTg).
fen elsessanss s, Cwaib sriler sumsmwus srams.

Let A={1, 2,3, 4,5} B=N and f: A—B be defined by f(x)=x2 Find the range of f.
Identify the type of funclion.



18.

19.

20.

21,
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@5 §(BLg LoemmuLs Caraeuullen Lisswtisaflen smbge ~4 whnib g
Clumsshuaen 3 eTafled, 2i&Caramaumus Sras.

Find a quadratic polynomial if the sum and product of zeros of it are —4 and 3
respectively.

2x%+pr—15=0 eTep GpuUly LODULSE Caranciulien GF fpeDITENE)
—5 eranled ‘p’-Wllerr wdllieous snans.

If —5is a root of the quadratic equation 2x%+px—15=0, find the vaiue of p.

2 4 1) _ 3 :
A.-‘-x=|R lé DM MILD B:u 3J‘GFGCTHEUC=2A+BGF60TH) SERTINWIS HTETE.
8 1) \4
3 2 B =1 . : , .
Let A= and B= i 3 J Find the matrix C if C=2A +B.
o} 2
A= s 6} erevie) Al=IA=A erenuangd sMfluriss. @m@ | ererug euflens 2
72

Clamar_ e < emfl,

: i & 5 ;
If A= ( 1 then veriiy Al=IA=A, where | is the unit matrix of order 2.
= e

A4, —6), B(3, —2) wpmbd C(5, 2) pHlueimenn o &flsarress QamerL
wp&Csramssiar HHSCsT () @b Sramrs.

Find the centroid of the triangle whose vertices are A(4, —6), B(3, —2) and C(5, 2).

[ Spiys / Turn over
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23

24.

Z5.

26.

Ger@HasiulL. AABC-6, DE||/BC. BD=x-3, AB=2x, CE=x-2 LD [ i) LD
AC=2x+3. arailer x wHlliL| sTems.

(sin®0 + cos®0) =1 - 3sin*0cos?0 evenm WHEDTEHaILEmW Hnels.

Prove the identity (sin® -+ cos®) = 1 — 3sin®fcos?h.

e CarLrsdear SiquGidmbg 303 m Gsremeeie HHEh em UTameauraTt
2&Caryrsdlen o Fflllenar 30° gpps Cosrewmide gsrawdpri,
serpiol L sdlellmbg Sieunen_w QlenLflenaus Lirfeneuds Gamliyhe erer
&b 1.5 B erafle) Carursder o wrgdlsnem Hnams.

The angle of elevation of the top of a tower as seen by an observer is 30°, The observer

is at a distance of 30v3 m from the tower. If the eye level of the observer is 1.5 m above

the ground level, then find the height of the tower,

mieUl L o (penarsetlen <y rhiseflen elldlgin 2:3 Cuogrn o wrnsaflsr

=

Qe
6flgimb 5 : 3 erafley pjeubdlen sensiateysailen eidssames srams.

The radii of two right circular cylinders are in the ratio 2 : 3. Find the ratio of their
volumes if their heights are in the ratio 5 : 3.
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28.

25,
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e Slaoro Ghifeul L& Fmbilen oy &aHmara] 236 QF..5. LOMMILD SIF60T FTILLITLD
12 Ga.8. erarflled, samblden cuenemUnliens Srems,.

If the circumference of the base of a solid right circular cone is 236 cm and its siant
height is 12 am, find its curved surface area,

e 13 Que sramsatien gL aflevsssmss sansdBs.

Calculate the standard deviation of the first 13 natural numbers.

ey usenser Gy Gpréde el L LuGbGung, wpem Ligen L &arilaLb
@Gy aran Sleo LugnsTen blspisular fepsselamads srames.

Three dice are thrown simultaneously. Find the probability of getting the same number
on all the three dice.

(=) Gearaupid Agrfer sahige andors.
31 +83+.... 4+ b3
2(E060 G|

(=) 2 CprGar@ y- uFama SpSlliLeteflsE Cuems 3 DGO FIT5HSle0
Gleu_Hidlngl whHmbd tand =

R |

(0 eremmiigl GprGCamiqem grileys Gamamin)
el Bibs CrrGaHTiig e FLueaITL el STems,
(a) Find the sum of the following series.

1+33+....4+53

(]

OR
(b) Find the equation of the line Intersecting the y-axis at a distance of 3 units above

the origin and tanf = L where § is the angle of inclination.

[ Spiiys / Turn over



6173

Slfley- Il / SECTION - III

wd LGl uearssT : 45) / (Marks : 45
ek i

@il . () 9 flomrésEnée dorwelsseayib, 9x5=45

(i) oferm erabr 45-G@E sewigliurs ol walssan. Wwso
14 sllenrssafledmpa aCoaib 8 alarissmans G ey Galwaib,

Note : (i}  Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31. Geuesru_rigensT!| LweruBSE AVBIUC) =(A\B) N (A\C) GTGOIGILD g~ LOMT &0
cildlemug aflLinideeb.

Using Venn diagram verify the De-Morgan’s Law of set difference
A\(BU Q) =(A\B) N (A\C).

=

32. A={0, 1, 2, 3} vpmib B={1, 3, 5, 7, 9} erenruan @ saTRISET eTaTs.
fi A=B srangis sy f(x)=2x+1 erend Uerhssliu’ Hererg. @QFeriGenan
(i) auflened Gsmgaeflel Samid (ii) 2L L 6lenaw (i) SIDUSGOIL UL b
(iv) ety pflusipmre Gihlés.

Let A={0, 1, 2, 3) and B={1, 3, 5, 7, 9} be two sets. Let f: A—B a function given by
F

F{x)=2x+1. Represent this function as (i) a set of ordered pairs (ii} a table
(i) an arrow diagram and (iv) a graph.



a3,

34,

35.

36.

s 6173
300-&@w 500-5@0 @e  Cuiweren H-sper au@uU@L Simabs Gue

GT 60T & 61T 66l Gnl L HUIGET STes.

Find the sum of all natural numbers between 300 and 500 which are divisible by 11,

R0 dunsEs erii suflepsula f-algl LHMWD 7-eug 2 mIlyeeT wenpGiL
54 wpmib 1458 eraflel, HFASTLT euflenseniLé srers,

If the 4™ and 7' terms of a G.P. are 54 and 1458 respectively, find the G.P.

&MUl P&81E : x7—3x2—10v + 24

Factorize : x¥—3x2~10x + 24.

dx*— 123 +37x2 +ax + b erenm Leamlig Carenay (IP(D eUTESLD eralley, a, b
G Slweuper whHliLsenars srams,

Find the values of a and b if the following polynomial is a perfect square.

4ri— 1222 4372 +ax + b.

[ kmluys / Turn over
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37.

38.

39.

40,

1 -1
A= [ﬁ 1 crafley A2—4A+51,=0 erem flmieys.
- /

1 -1
If A=| 5 g ] then show that AZ— 4A +51,=0.

AABC -er gpenarger A(l, 8), B(—2, 4), C(8, —5) Cueyd M, N ereruen apenpGu
AB, AC Qlaupdler pRHUYGTaN&ET eraldd MN-e smileneld STEHTS.
@engsaran® MN wpmib BC < dlu CprGar(ast Genan erens &ri_(Hs.

The vertices of AABC are A(1, 8), B(—2,4), C(8, —=5). If M and N are the midpoints of
AB and AC respectively, find the slope of MN and hence verify that MN 1s parallel
to BC.

4x+3y—12=0 adarp CriGard SifsaEper ghu@sgid WeGsmemsden
urinilenersd smedrs.

Find the area of the triangle formed by the line 4x+ 3y —12=0 with the co-ordinate
axes,

Cpiragssrer sm wrden Cuaursd srpdlamd wdlbg, SibwHHs LGS
ECw elipps e, wrsder 258 garyrer 30° Caravmios
goubsadpg. wrgHer 2 58 egen eiquiadimig 30 18 Asrenaeld smraws
Cerhé&ng sTefled, LFSHlen (PP 2 LTSNS SraTs.

A vertical tree is broken by the wind. The top of the tree touches the ground and
makes an angle 30° with it. If the top of the tree touches the ground 30 m away from
its foot, then find the actual height of the tree.



41.

42,

43.

44.

Mgt aviburarg o aeruilen Bz F=iby Glamenbs euwelld o crarg).
2 menemuflen efll_ib HMb oL bfer Cwbrds 2wy wepGu 10 GF.d8.
B0 Gz.8. @b, by urssdar ewrn 12 Gs.5. crafler svbller Quorss
Louurllemearsd sreas.

A cricket stump is in the shape of a cylinder surmounted b}’ a cone., The diameter of
the cylinder and the total height of the stump are 10 cm and 80 cm respectively. If the
height of the conical part is 12 ¢cm, then find its total surface area.

18 Q#.18. yraperar Semo o Carssd Carerorens 2 meslUL G ppery Hbiw
GleueuGeuml Sjereyarer GCameTRISETTS UTTESILHE DS, BeleuTH eurfdsULL L
@ren( SHawrns Cosrermsaflen epriser paonGu 2 Qa5 woHmb 12 GF.b.
CTETE PLpETDTeUS| CHETETSHEN Y TSMEHE HTETE.

A spherical solid material of radius 18 cm is melted and recast into three small solid
spherical spheres of different sizes. If the radii of bwo spheres are 2 cm and 12 cm, find
the radius of the third sphere.

Qemeupid williseflen wrpurl (& Cepameals sawsdHHis. 20, 18, 32, 24, 26,

Calculate the co-efficient of variation of the following data 20, 18, 32, 24, 26.

@ enuuiley 10 Qedarenar, 5 s@mUL, 3 UFes LoHmb 2 ety vl ubg ser
2 @TeTar. FIb@IMILILY (penm udl e Ggrr;rg@g;\basasuu b @ UbF, Ceudrener
SlLG HHUL] Dievgl Ldeng Binors @liugnsrer Hepsselenear rams.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at random.
Find the probability that the ball drawn is white or black or green.

[ Slgpliys / Turn over
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: 2
45. (=) P= ——, Q= Y erafléd 1 = 20 -8pd &TENTS.
XAy ol P= P
ENESTVEN
(<,) AABC-é) ugsid BC-wiler mEHULet D ereis. P opmith Q eremuen AB mmiLd
AC-gaflenr Ciodd sienops Liarallsmer wy@in. Cuoaub ZBDA wipb LADC
<& CarentriseaneT (penmGul DP pmid DQ ereiier @i #10 UTSRIGETTS
AfG@h erafla) PQ|BC eran flpays.
i _ ; -
W WP=a? e B e e S
2 B X+ 7y P P* —~ °

Gl

I

OR

(b) D is the midpoint of the side BC of AABC. I P and Q are points on AB and on AC
such that DP bisects #/BDA and DQ bisects ZADC, then prove that PQ||BC.

9fley - IV / SECTION - IV

(dlGhustmser : 20) / (Marks : 20)

@Oy = g@eauGleumm eflemrallayid 2 erer Grenst(h) wrhmy eSlameneus CsTHllsHEs)
Bm efenrdsEns@n eSlent wiat FEa|Ld. 2x10=20

Note : Answer both the questions choosing either of the alternatives.

26. (=) 3 Q8. @y rpeien Ul LD suenys, sulL e enwwsHedmbg 7 Qa.ib.
Qeraneeied @ daretlamwsd @GNlsa, <iliLarallldlmba el L S8n@E
QgrhCarhsear cuewrs. Coaid QerGCsr@sellear Bargms oieThg
TGS

2|06V
(=4) AABC-& BC=5 @& 8, £LA=45° bomib 248 A WSlHEE BC &
alepmuOUl L BHECsT g6 Ferbd 4 Wg 15, srem @ mésLUL AABC auamrs,
(a) Draw a circle of radius 3 cim. From an external point 7 cm away from its centre,
construct the pair of tangents to the circle and measure their lengths.
OR

(h) Construct a AABC such that BC=5 cm, £A=45° and the median from A to BC
is 4 em.



47. (@) y=2x°-a aweruL a5 awarbgs SO BHs 2xi+r—6=0 G

EOGTUTL L & STdsalb.

216060 E)

(<) @ SliLr urellen eflene T 15 erems. Lmellan SleTe B G0 cHanad &G LD

(a)

(b)

2 enems LarLmSeans sr (b suenrLLd cuenrs. DiFanenll LusemU(Rgd)
() e&Sldlgsw LrMdlows srams.
(i) 3 el umsller aSleneveniisd SmaTs.
Draw the graph of y=2x? and hence solve 212+ x—6=0,
OR

The cost of milk per litre is ¥ 15. Draw the graph for the relation between the
quantity and cost. Hence find :

(i)  the proportionality constant

(if)  the cost of 3 litres of milk,

~a0g-

T

Pty
=3

(a3



